
Maths Homework Y5 Mrs Ferrier and Mrs Davis 
Date set: 27/4/21   Date due: 3/5/21 

You need to complete both sections 
 
 
 

Section 1 –  
 
1. 614,024 – 231,516 = (show your   

            working out) 
       
2. Continue the pattern: 
45,864   45,874    45,884    ?      ?     ? 
 
3. Put these numbers in descending 

order: 
 
      0    -9      11     -10     3     -5 
 
4.  9 = 63 ÷ ? 
 
5.  Round 317,882 to the nearest 10, 
 100,  1000 and 10,000. 
 
6. In Lancing the temperature is 5oC.  

In Oslo it’s -3oC.  What is the 
difference in temperature between 
the 2 places? 

Section 2 – Use your place value headings to help 
you: 

       M  Th   Th   Th   H   T   O  .  t  h  th  

 

1. 896 x 10 = 

 

2. 97.84 x 1000 = 

 

3. ?  = 768,900 ÷ 100 

 

4. ?  = 3,882 ÷ 10 

 

5. 76,919 = ? ÷ 100 

 

6. ? X 1000 = 363,000 

 

 
 

 

100  10  

x 10 = move the digits 1 place to the left 
x 100 = move the digits 2 places to the left 
x 1000 = move the digits 3 places to the left 

÷ 10 = move the digits 1 place to the right 
÷ 100 = move the digits 2 places to the right 

÷ 1000 = move the digits 3 places to the right 

To help with Section 2, remember: 


